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So that the n''® should not go in and out when it is a tight fit

OVERVIEW

The X773 states (according to »"7) there were two extra 2’190 in the width of the
1K (more than was necessary for the mm?), in order that the n"o which was in the
717X could be removed from, and placed in, the 177X with ease.

nvoIn asks:
- ‘o’\v-r‘p‘n VTP N33 03550 90N NNT PIND 19 1NN PRI 1PN ND XD 99NN ON)

And if you will say; but they did not take the n"0 out of the 19X at all, for it is

forbidden to enter into the 2sw7pm WP No2 -
— 08 NYNY N1 9702 YJNIUN RY B591950 DY2)

And on 2" when the 1"72 entered the P"77? we do not find in the order of
activities mentioned in 8%1° No0n that the 2''170 would remove the n"o from the 1x?!

N1B0IN answers:
— (7P 9 1929993 1359INTI BIWTPN WP 11533 D399 59 170D 515 TN8YT 91319 W

And one can say; that for a need, in order to repair the p"777p it was permitted

to enter the 2''77? no2 as the X713 states in 3°219%Y NOon -
— HPYPN WaYN’ XYV 573 1IN 990 17NY 215 OV 03259 P12 333 XaM)

So here too they could enter the p"77 in order to preserve the n''o so that it

should not become moldy and spoil -
— Y1PN1N N2 NNHY NIV 1Y 1YY 19VN 29NYUN ON

And also once 79°w j9w» was destroyed until 725w built the p''ama’ -
172 199999 PPAND 1 INORINY 199199 191
They were able to remove the n"o from the 1198 and study it.

SUMMARY
It is permitted to enter (even) the P"7p to do repair work and (even) to prevent the

" The 17X (in which the n"o was placed) was in the "77p, so there was no access to ever take out the n"o.
2 See, however, *"wA on 71y 790 1"7 2,7° who writes 2"12 A"7191 Drpna Tona nWAD ATV PP 12 Wn 2now 90, See
w"wA (here) and »"n1 (on the *"wA).
? See “Thinking it over’ # 1.
* Between 7w 12717 and p"»°2 12 the DWH was in 1wan 21 for fifty-seven years. During this period the 17X was
not in the 1own but it was either in (2,7 R PRW) 0°79° 1>3p or in (R,7 &"n ;2°,1 2"W) 717 7, and it was accessible.
> See ‘Thinking it over’ # 2.
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770 from becoming moldy.

THINKING IT OVER

1. moown proves that they did not take out the n"o from the 117X on 3"y since
nothing of this is mentioned in the '®nv 770'.° Seemingly the ¥21 970 in our 0"W is
discussing the 3"71> n712Y in the "1 n°2 where there was no PNIX (and no 771N) in the
?"1p, but perhaps in the WX n°2 the 1"72 did take out the n"o?!’

2. mooIn states that they could remove the 770 from the NIX after 72°w 1210 before
nwx1 n2.* Does Mmoo mean to say the reason the 17X was made two o°mov larger
than necessary was for that [limited] period?

6 See footnote # 3.
7 See v pun.
8 See footnote # 5.
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